
2.	Bez	Dreiecke	 	 AB	2	
Mauro	Nogara	

1	

2.	Bez	 Dreiecke	 AB	2	
 
1. a	=	6,5	cm	 b	=	4,9	cm	 β	=	45°		 (Grundkonstruktionen)	
2. a	=	6cm	 b	=	5cm	 c	=	4cm	
3. a	=	6cm	 c	=	5,2cm	 β	=	57°	
4. b	=	5,9cm	 α	=	34°	 γ	=	75°	
	
5. α	=	60°	 c	=	8	cm	 hc	=	4	cm		 (Höhenstreifen)	
6. b	=	5	cm	 c	=	7,2	cm	 hb	=	6	cm		
7. ha	=	3	cm	 α	=	20°	 γ	=	30°		
	
8. c	=	4cm	 a	=	2,5cm	 γ	=	90°	 (Thaleskreis)	
9. c	=	8,5cm	 hc	=	5,5cm	 γ	=	90°	
10. b	=	4,5cm	 β	=	90°	 γ	=	25°	
11. r	=	2,5	cm	 α	=	65°	 γ	=	90°	
	
12. r	=	3,5	cm	 a	=	5,8	cm	 γ	=	46°		 (Umkreis)	
13. r	=	3,3	cm	 hb	=	2,7	cm	 a	=	5,5	cm	
14. b	=	3,8cm	 r	=	3,2cm	 γ	=	110°	
15. r	=	2,3	cm	 ha	=	4	cm	 b	=	4,2	cm	
	
16. 𝜚	=	1,8	cm	 a	=	5,7	cm	 γ	=	44°		 (Inkreis)	
17. 𝜚	=	1,7	cm	 hb	=	4	cm	 α	=	45°		
18. 𝜚	=	2,5	cm	 hb	=	7	cm	 a	=	7,5	cm	
19. 𝐴𝑊!$$$$$$	=	5,5	cm	 c	=	6	cm	 α	=	50°		
	
20. sc	=	4	cm	 b	=	5	cm	 c	=	4,4	cm		 (Schwerlinien)	
21. sc	=	3,8	cm	 a	=	5,6	cm	 hc	=	3,5	cm		
22. sa	=	4	cm	 a	=	4,5	cm	 γ	=	74°		
23. sa	=	5,7	cm	 sc	=	4,2	cm	 b	=	5,3	cm	
24. a	=	4cm	 b	=	5cm	 sb	=	4,3cm	
25. a	=	3cm	 γ	=	70°	 sb	=	3,4cm	
26. c	=	6,6cm	 α	=	61°	 sb	=	6cm	
27. b	=	7cm	 sb	=	4,8cm	 sc	=	5,1cm		
28. hc	=	4cm	 sb	=	5,4cm	 sc	=	4,2cm		
29. hb	=	5,5cm	 sb	=	5,7cm	 sc	=	4,8cm	
	
30. gleichschenkliges	Dreieck	aus	b	=	7,5	cm	und	β	=	41°,	a	=	b	 (gleichschenklig)	
31. gleichschenkliges	Dreieck	aus	hc	=	6,5	cm	und	a	=	7	cm,	a	=	b	
32. gleichschenkliges	Dreieck	aus	hb	=	2,8	cm	und	b	=	5	cm,	a	=	b	
33. gleichschenkliges	Dreieck	aus	hb	=	3,8	cm	und	Basis	=	c	=	5,5	cm,	a	=	b	
34. gleichschenkliges	Dreieck	aus	ha	=	3,7	cm	und	Basis	=	c	=	4	cm,	a	=	b	
35. gleichschenkliges	Dreieck	aus	hc	=	7,5	cm	und	Basis	=	c	=	7,5	cm,	a	=	b	
36. gleichschenkliges	Dreieck	aus	hc	=	6	cm	und	γ	=	80°,	a	=	b	


